THE DORSET COUNCIL (OFF-STREET PARKING PLACES) (CONSOLIDATION) ORDER 2022)

(Variation Order No.1 2023)

Dorset Council in exercise of powers under Section 35C and 46A of the Road Traffic Regulation Act 1984, and in compliance with Regulation 25 (Part V) Local Authorities' Traffic Orders (Procedure) (England and Wales) Regulations 1996 hereby make the following Variation Order:

1. The Order shall vary 'THE DORSET COUNCIL (OFF-STREET PARKING PLACES) (CONSOLIDATION) ORDER 2022)' in the manner set out below but in all other respects the 2022 Order shall remain in full force and effect.

These variations will come into force on the 28th April 2023 and may be cited as 'THE DORSET COUNCIL (OFF-STREET PARKING PLACES) (CONSOLIDATION) ORDER 2022) (Variation Order No.1 2023)'

Dated this day 2023

The Common Seal of the Dorset Council was affixed hereto in the presence of:-

Authorised Signatory

Off Street Parking Place	TIME OF STAY TIME OF STAY AND CURRENT CHARGE										
			TIM	E OF STA	Y AND CU	IRRENT C	HARGE				
<u>Beaminster</u>	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days		
The Square Car Park	£0.50	£0.70	£1.00								
Yarn Barton Car Park Multiuse Area			£3.50			£7.00	£15.00	£22.00			
Yarn Barton Car Park Coaches			£3.50			£7.00	£15.00	£22.00			
		1	Т	IME OF S	TAY AND	NEW CHA	RGE				
<u>Beaminster</u>	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days		
The Square Car Park	£0.50	£0.70	£1.00	£1.50							
Yarn Barton Car Park Multiuse Area			£3.50			£9.30	£15.00	£22.00			
Yarn Barton Car Park Coaches			£3.50			£9.30	£15.00	£22.00	£85.00		
00001100			TIM	E OF STA	Y AND CU	IRRENT C	HARGE	1			
Blandford	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days		
Church Lane Car Park	£0.50	£1.00	£1.50								
Langton Road Multiuse Area			£3.50			£7.00	£15.00	£22.00			
Langton Road Coaches	22.52	04.00	£3.50	00.00	00.50	£7.00	£15.00	£22.00			
Marsh and Ham Car Park	£0.50	£1.00	£1.50	£2.20	£3.50						
Marsh and Ham Car Park Multiuse Area			£3.50		£7						
Marsh and Ham Car Park Coaches			£3.50		£7						
			Т	IME OF S	TAY AND	NEW CHA	RGF				
Blandford	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days		
Church Lane Car Park	£0.50	£1.00	£1.50	£2.20							
Langton Road Multiuse Area			£3.50			£9.30	£15.00	£22.00			
Langton Road Coaches			£3.50			£9.30	£15.00	£22.00	£85		
Marsh and Ham Car Park	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00				
Marsh and Ham Car Park Multiuse Area			£3.50			£9.30	£15				
Marsh and Ham Car Park Coaches			£3.50			£9.30	£15		£85		

		TIN	IE OF STA	AY AND C	URRENT (CHARGE			
<u>Bridport</u>	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
West Street Car Park			£3.50			£7.00	£15.00	£22.00	
Multiuse Area West Street Car Park			£3.50			£7.00	£15.00	£22.00	
Coaches			TIME OF S	TAV AND	NEW CH	ARCE			
511	00						10	0.4	7 1
Bridport	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
West Street Car Park Multiuse Area			£3.50			£9.30	£15.00	£22.00	
West Street Car Park			£3.50			£9.30	£15.00	£22.00	£85
Coaches		<u> </u>							
			ME OF STA						
<u>Charmouth</u>	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Lower Sea Lane Car Park 1 st April to 31 st October	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Lower Sea Lane Car Park 1 st November to 31 st March	£0.50	£0.70	£1.00	£1.50	£2.50		£4.00		
Lower Sea Lane Multiuse Area			£3.50			£7.00	£15.00	£22.00	
Lower Sea Lane Multiuse Area Coaches			£3.50			£7.00	£15.00	£22.00	
7 trod Godonos	l		TIME OF S	STAY AND	NEW CH	ARGE	1		
Charmouth	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Lower Sea Lane Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
Lower Sea Lane Car Park 1st November to 31st March	£0.50	£0.70	£1.00	£1.50	£2.50		£4.00		
Lower Sea Lane Multiuse Area			£5.30			£14.00	£22.50	£33.00	
Lower Sea Lane Multiuse			£5.30			£14.00	£22.50	£33.00	£85
Area Coaches	<u> </u>	TIN	L ME OF STA	Y AND C	⊥ URRFNT (L CHARGE		1	
Corfe Castle	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10	24	7 days
West Street Car Park 1st April to 31st October	mins £1.00	£2.00	£3.00	£4.00	£5.00		£10.00	hours	
West Street Car Park 1st November to 31st March	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Purbeck Park Motorhomes Purbeck Park			£3.50			£7.00	£5.00 £15.00	£22.00	
Coaches Area			20.00			27.00	210.00	222.00	

			TIME OF S	STAY AND	NEW CH	ARGE			
Corfe Castle	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
West Street Car Park 1st April to	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
31st October West Street Car Park 1st November to	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
31st March Purbeck Park							£7.00		
Motorhomes Purbeck Park Coaches Area			£3.50			£9.30	£15.00	£22.00	£85.00
Codones / trea		TIN	I IE OF STA	Y AND C	URRENT (CHARGE			
Dorchester	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Old Market Car Park	£0.50	£1.00	£1.50						
Top O Town Car Park			£3.50			£7.00	£15.00	£22.00	
Multiuse Area Top O Town Car Park Coaches			£3.50			£7.00	£15.00	£22.00	
Coaches		1	TIME OF S	STAY AND	NEW CH	ARGE		1	
<u>Dorchester</u>	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Old Market Car Park	£0.50	£1.00	£1.50	£2.20	£3.50				
Top O Town Car Park Multiuse Area			£3.50			£9.30	£15.00	£22.00	
Top O Town Car Park Coaches			£3.50			£9.30	£15.00	£22.00	£85
Codonos		TIN	IE OF STA	Y AND C	URRENT (CHARGE		1	
Lyme Regis	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Broad Street Car Park 1st April to 31st October	£1.00	£2.00	£3.00						
Broad Street Car Park 1st November to 31st March	£0.50	£1.00	£1.50						
Charmouth Road Car Park 1st April to 31st October	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Charmouth Road Car Park 1st November to 31st March	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Charmouth Road Car Park Motorhome Bay 1st April to 31st October		£2.50	£3.50	£4.50	£5.50		£13		
Charmouth Road Car Park Motorhome Bay 1st November to 31st March		£1.50	£2.00	£3.00	£4.00		£7		
Charmouth Road Multiuse Area			£3.50			£7.00	£10.00	£22.00	
Charmouth Road Coaches			£3.50			£7.00	£10.00	£22.00	

Holmbush Car Park 1st April to	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
31st October Holmbush Car	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Park 1st November to 31st March									
Holmbush Car Park		£2.50	£3.50	£4.50	£5.50		£13.00		
Motorhome Bay 1st April to 31st October									
Holmbush Car Park Motorhome Bay 1st November to 31st March		£1.50	£2.00	£3.00	£4.00		£7.00		
Holmbush Multiuse Area			£3.50			£7.00	£15.00	£22.00	
Holmbush Multiuse Area Coaches			£3.50			£7.00	£15.00	£22.00	
Cobb Gate Car Park 1st April to	£1.00	£2.00	£3.00						
31st October Cobb Gate Car Park 1st	£0.50	£1.00	£1.50						
November to 31st March									
1	00		TIME OF S				10	0.4	7 -!
Lyme Regis	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Broad Street Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00					
Broad Street Car Park 1st November to 31st March	£0.80	£1.50	£2.30	£3.30					
Charmouth Road Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6	£7.50		£15		
Charmouth Road 1 st November to 31 st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9		
Charmouth Road Car Park Motorhome Bay 1st April to 31st October		£3.80	£5.30	£6.80	£8.30		£19.50		
Charmouth Road Car Park Motorhome Bay 1st November to 31st March		£2.30	£3.00	£4.50	£6.00		£10.50		
Charmouth Road Multiuse Area			£5.30			£14.00	£22.50	£33.00	
Charmouth Road Coaches			£5.30			£14.00	£22.50	£33.00	£85
Holmbush Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
Holmbush Car Park 1st November to 31st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		

Holmbush Car Park Motorhome Bay 1st April to 31st October Multiuse Area E2.30 £3.00 £4.50 £6.00 £10.50 £10.50 E10.50 E10.50										
Motorhome Bay 1st April to 31st October			£3.80	£5.30	£6.80	£8.30		£19.50		
St April to 31st Cotober Cotob										
Decider Holmbush Car Park Motorhome Bay 1st November to 31st March Holmbush E5.30 E4.50 E6.00 E10.50 E33.00 E4.50 E5.30 E14.00 E22.50 E33.00 E85 E5.30 E5.30										
Holmbush Car Park Motorhome Bay 1st November to 31st March E2.30 £3.00 £4.50 £6.00 £14.00 £22.50 £33.00 £85 Multiuse Area Hombush £5.30 £14.00 £22.50 £33.00 £85 Multiuse Area Hombush £5.30 £4.50 £6.00 £14.00 £22.50 £33.00 £85 Multiuse Area Coaches Cobb Gate Car £0.80 £4.50 £6.00 £3.30 £4.50 £6.00 E3.30 E4.50 E3.30 E4.50 E3.30 E4.50 E4.50										
Park Motorhome Bay 1st November to 31st March E5.30			00.00	00.00	04.50	00.00		040.50		
Motorhome Bay 1st November to 31st March Holimbush E5.30 £14.00 £22.50 £33.00 £85 Multiuse Area Hombush £5.30 £14.00 £22.50 £33.00 £85 Multiuse Area Coaches Cobb Gate Car Park 14.00 £1.50 £3.00 £4.50 £6.00 E1.50 £3.00 £4.50 £6.00 E1.50 E2.30 E3.30 E85 E2.30 E3.30 E85 E3.30 E3.30	_		£2.30	£3.00	£4.50	£6.00		£10.50		
St November Co31st March E5.30 E5.30 E14.00 E22.50 E33.00 E85										
10 31st March										
Holmbush Multiuse Area E5.30 E14.00 E22.50 E33.00 E85										
Multiuse Area				£5.30			£14 00	£22.50	£33.00	
Hombush Multiuse Area				20.00			214.00	222.00	200.00	
Multiuse Area Coaches Cobb Gate Car E1.50 £3.00 £4.50 £6.00 E1.50 E3.30 E3				£5.30			£14 00	£22.50	£33.00	£85
Coaches				20.00			211.00	222.00	200.00	200
Cobb Gate Car Park 1st April to 31st October										
Stat Cotobe Cobb Gate Car E0.80 £1.50 £2.30 £3.30	Cobb Gate Car	£1.50	£3.00	£4.50	£6.00					
Cobb Gate Car										
Park										
November to 31st March	Cobb Gate Car	£0.80	£1.50	£2.30	£3.30					
STAY AND CURRENT CHARGE Portland 30 mins 1 hour 2 hours 3 hours 4 hours 6 hours 10 hours 7 days 1 hour 2 hours 3 hours 4 hours 6 hours 10 hours 7 days 1 hour 10 hours 10	Park 1st									
TIME OF STAY AND CURRENT CHARGE										
Portland	31st March									
Minis			TIN	ME OF STA	AY AND C	JRRENT (CHARGE			
Minis	<u>Portland</u>	30	1 hour	2 hours	3 hours	4 hours	6 hours	10	24	7 days
1st April to 31st		mins						hours	hours	
October Chesil Car Park 1st November to 31st March £0.50 £1.00 £1.50 £2.20 £3.50 £6.00 Chesil Car Park Motorhomes and Vans 1st April to 31st October £2.50 £3.50 £4.50 £5.50 £13.00 Chesil Car Park Motorhomes and Vans 1st November to 31st March £1.50 £2.00 £3.00 £4.00 £7.00 Chesil Car Park (Coaches) £1.00 £3.50 £7.00 £15.00 £22.00 Portland Bill (Main) Car Park 1st April to 31st October £0.50 £1.50 £2.20 £3.50 £6.00 Portland Bill (Main) Car Park 1st November to 31st March £0.50 £1.50 £2.20 £3.50 £6.00 Portland Bill Multiuse Area £3.50 £3.50 £7.00 £15.00 £22.00 Portland Bill Car Park £3.50 £7.00 £15.00 £22.00 £22.00	Chesil Car Park	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Chesil Car Park 1st November to 31st March £0.50 £1.50 £2.20 £3.50 £6.00 £13.	1st April to 31st									
1st November to 31st March										
to 31st March Chesil Car Park Motorhomes and Vans 1st April to 31st October		£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Chesil Car Park Motorhomes and Vans 1st April to 31st October £2.50 £3.50 £4.50 £5.50 £13.00 Chesil Car Park Motorhomes and Vans 1st November to 31st March £1.50 £2.00 £3.00 £4.00 £7.00 Chesil Car Park (Coaches) £3.50 £7.00 £15.00 £22.00 Portland Bill (Main) Car Park 1st April to 31st October £1.00 £3.00 £4.00 £5.00 £10.00 Portland Bill (Main) Car Park 1st November to 31st March £0.50 £1.00 £1.50 £2.20 £3.50 Portland Bill Multiuse Area £3.50 £7.00 £15.00 £22.00 Portland Bill Car Bill Car £3.50 £7.00 £15.00 £22.00										
Motorhomes and Vans 1st April to 31st October £1.50 £2.00 £3.00 £4.00 £7.00 Chesil Car Park Motorhomes and Vans 1st November to 31st March £3.50 £7.00 £15.00 £22.00 Portland Bill (Main) Car Park 1st April to 31st October £1.00 £2.00 £3.00 £4.00 £5.00 £10.00 Portland Bill (Main) Car Park 1st November to 31st March £0.50 £1.50 £2.20 £3.50 Portland Bill Multiuse Area £3.50 £7.00 £15.00 £22.00 Portland Bill Car Park 1st November to 31st March £3.50 £7.00 £15.00 £22.00										
and Vans 1st April to 31st Cotober £1.50 £2.00 £3.00 £4.00 £7.00 Chesil Car Park Motorhomes and Vans 1st November to 31st March £3.50 £7.00 £15.00 £22.00 Chesil Car Park (Coaches) £1.00 £3.50 £7.00 £15.00 £22.00 Portland Bill (Main) Car Park 1st April to 31st October £0.50 £1.00 £1.50 £2.20 £3.50 Portland Bill (Main) Car Park 1st November to 31st March £3.50 £7.00 £15.00 £22.00 Portland Bill Multiuse Area £3.50 £7.00 £15.00 £22.00 Portland Bill Car Park £3.50 £7.00 £15.00 £22.00			£2.50	£3.50	£4.50	£5.50		£13.00		
April to 31st October										
October Chesil Car Park Motorhomes and Vans 1st November to 31st March £1.50 £2.00 £3.00 £4.00 £7.00 £7.00 Chesil Car Park (Coaches) £3.50 £7.00 £15.00 £22.00 £22.00 £22.00 £22.00 £15.00 £22.00 £22.00 £22.00 £3.00 £4.00 £5.00 £10.00										
Chesil Car Park Motorhomes and Vans 1st November to 31st March £1.50 £2.00 £3.00 £4.00 £7.00 £7.00 Chesil Car Park (Coaches) £3.50 £7.00 £15.00 £22.00 Portland Bill (Main) Car Park 1st April to 31st October £1.00 £3.00 £4.00 £5.00 £10.00 Portland Bill (Main) Car Park 1st November to 31st March £0.50 £1.00 £1.50 £2.20 £3.50 Portland Bill Multiuse Area £3.50 £7.00 £15.00 £22.00 Portland Bill Car £3.50 £7.00 £15.00 £22.00										
Motorhomes and Vans 1st November to 31st March £3.50 £7.00 £15.00 £22.00 Chesil Car Park (Coaches) £1.00 £3.50 £5.00 £10.00 £22.00 Portland Bill (Main) Car Park 1st April to 31st October £0.50 £1.00 £1.50 £2.20 £3.50 £6.00 Portland Bill (Main) Car Park 1st November to 31st March £3.50 £7.00 £15.00 £22.00 Portland Bill Multiuse Area £3.50 £7.00 £15.00 £22.00 Portland Bill Car Park £3.50 £7.00 £15.00 £22.00			C1 E0	C2 00	C2 00	C4 00		C7 00		
and Vans 1st November to 31st March £3.50 £7.00 £15.00 £22.00 Chesil Car Park (Coaches) £1.00 £3.50 £7.00 £15.00 £22.00 Portland Bill (Main) Car Park 1st April to 31st October £1.00 £1.50 £2.20 £3.50 £6.00 Portland Bill (Main) Car Park 1st November to 31st March £3.50 £7.00 £15.00 £22.00 Portland Bill Multiuse Area £3.50 £7.00 £15.00 £22.00 Portland Bill Car £3.50 £7.00 £15.00 £22.00	-		£1.50	£2.00	£3.00	£4.00		£7.00		
November to 31st March £3.50 £7.00 £15.00 £22.00										
31st March										
Chesil Car Park (Coaches) £3.50 £7.00 £15.00 £22.00 Portland Bill (Main) Car Park 1st April to 31st October £1.00 £3.00 £4.00 £5.00 £10.00 Portland Bill (Main) Car Park 1st November to 31st March £0.50 £1.00 £1.50 £2.20 £3.50 Portland Bill Multiuse Area £3.50 £7.00 £15.00 £22.00 Portland Bill Car £3.50 £7.00 £15.00 £22.00										
Coaches Portland Bill (Main) Car Park 1st April to 31st October Portland Bill (Main) Car Park 1st November to 31st March Portland Bill Multiuse Area Portland Bill Car Park £3.50 £7.00 £15.00 £22.00 £22.00 £3.50 £7.00 £15.00 £22.00 £22.00 £3.50 £7.00 £15.00 £22.00 £3.5				£3.50			£7 00	£15.00	£22 00	+
Portland Bill (Main) Car Park 1st April to 31st October Portland Bill (Main) Car Park 1st November to 31st March Portland Bill Multiuse Area Portland Bill Car Park £3.50 £3.50 £7.00 £15.00 £22.00 £3.50 £7.00 £15.00 £22.00 £3.50 £7.00 £15.00 £22.00 £3.50 £7.00 £15.00 £22.00 £3.50 £7.00 £15.00 £22.00 £3.50 £3				20.00			21.00	2.0.00	222.00	
(Main) Car Park 1st April to 31st 2st		£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
St April to 31st				20100						
October Fortland Bill (Main) Car Park 1st November to 31st March £0.50 £1.00 £1.50 £2.20 £3.50 £6.00 Portland Bill Multiuse Area £3.50 £7.00 £15.00 £22.00 Portland Bill Car Park £3.50 £7.00 £15.00 £22.00										
Portland Bill (Main) Car Park £0.50										
(Main) Car Park 1st November to 31st March Portland Bill £3.50 £7.00 £15.00 £22.00 Multiuse Area Portland Bill £3.50 £7.00 £15.00 £22.00 Car Park Park £3.50 £7.00 £15.00 £22.00		£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
1st November to 31st March £3.50 £7.00 £15.00 £22.00 Portland Bill Multiuse Area £3.50 £7.00 £15.00 £22.00 Portland Bill Car Park £3.50 £7.00 £15.00 £22.00										
Portland Bill £3.50 £7.00 £15.00 £22.00										
Multiuse Area £3.50 £7.00 £15.00 £22.00 Car Park										
Portland Bill £3.50 £7.00 £15.00 £22.00 Car Park				£3.50			£7.00	£15.00	£22.00	
Car Park								<u> </u>		
				£3.50			£7.00	£15.00	£22.00	
1 (L OOCHOE (MEQ) 1 1 1 1 1 1 1 1 1										
	(Coaches Area)	04.00	00.00	00.00	04.00	05.00		040.00	1	
Castletown Car £1.00 £2.00 £3.00 £4.00 £5.00 £10.00		£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Park 1st April to										
31st October		CO 50	C4 00	04.50	C2 20	C2 E0		CC 00		
Castletown Car £0.50 £1.00 £1.50 £2.20 £3.50		£U.5U	£1.00	£1.50	£2.2U	£3.5U		£0.00		
November to										
31st March										
TIME OF STAY AND NEW CHARGE	J TOT WIGHTON	<u> </u>	<u>.</u>	TIME OF S	STAY AND	NEW CH	ARGF	I	1	1
	Doubless	20						10	24	7 -1 -1
Portland 30 1 hour 2 hours 3 hours 4 hours 6 hours 10 24 7 days	Portiana		1 nour	∠ nours	3 nours	4 nours	b nours			/ days
mins	Chasil Car Dari		C2 00	04.50	C6 00	07.50			nours	
Chesil Car Park £1.50 £3.00 £4.50 £6.00 £7.50 £15.00		£1.5U	£3.00	£4.50	£0.00	£1.50		£15.00		
1st April to 31st October										
Chesil Car Park £0.80 £1.50 £2.30 £3.30 £5.30 £9.00		ቲ ሀ ጸቦ	£1.50	t3 30	t3 30	£5.30		£0 00		
Chesil Car Park £0.80 £1.50 £2.30 £3.30 £5.30 £9.00		£0.00	£1.50	£2.30	£3.30	£0.30		£3.00		
			1		Ī	l	Ī	Ī	Ī	Ī
to 31st March	to 31st March									

Chesil Car Park Motorhome									
Bays 1st April to 31st October		£3.80	£5.30	£6.80	£8.30		£19.50		
Chesil Car Park Motorhome Bays 1st		£2.30	£3.00	£4.50	£6.00		£10.50		
November to 31st March									
Chesil Car Park (Coaches)			£5.30			£14.00	£22.50	£33.00	£85.00
Portland Bill (Main) Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
Portland Bill (Main) Car Park 1st November to 31st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
Portland Bill Multiuse Area			£5.30			£14.00	£22.50	£33.00	
Portland Bill Car Park (Coaches Area)			£5.30			£14.00	£22.50	£33.00	£85.00
Castletown Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
Castletown Car Park 1st November to 31st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
O TOT MAION		TIN	IE OF STA	AY AND C	URRENT (CHARGE	1		
<u>Shaftesbury</u>	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Bell Street Car Park Multiuse Area (Coaches)									£85.00
			TIME OF S						
<u>Shaftesbury</u>	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Bell Street Car									
Park Multiuse Area (Coaches)									
Area (Coaches)			ME OF STA						
Area (Coaches) Sherborne	30 mins	TIN 1 hour	ME OF STA 2 hours	3 hours	URRENT (6 hours	10 hours	24 hours	7 days
Area (Coaches)								1	7 days
Sherborne Culverhayes		1 hour	2 hours	3 hours £3.50 £3.50	4 hours	6 hours £7.00 £7.00	hours	hours	7 days
Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches	mins	1 hour	2 hours	3 hours £3.50 £3.50	4 hours	6 hours £7.00 £7.00	hours £15.00 £15.00	hours £22.00 £22.00	
Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sherborne		1 hour	2 hours TIME OF S 2 hours	3 hours £3.50 £3.50	4 hours	£7.00 £7.00 ARGE 6 hours	hours £15.00 £15.00	hours £22.00 £22.00	7 days
Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sherborne Culverhayes Multiuse Area	mins 30	1 hour	2 hours TIME OF S 2 hours £3.50	3 hours £3.50 £3.50	4 hours	£7.00 £7.00 £7.00 ARGE 6 hours	hours £15.00 £15.00 10 hours £15.00	hours £22.00 £22.00 24 hours £22.00	7 days
Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sherborne Culverhayes	mins 30	1 hour	2 hours TIME OF \$ 2 hours £3.50 £3.50	£3.50 £3.50 £3.50 STAY AND 3 hours	4 hours NEW CH. 4 hours	£7.00 £7.00 £7.00 ARGE 6 hours £9.30	hours £15.00 £15.00	hours £22.00 £22.00	
Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches	mins 30 mins	1 hour	2 hours TIME OF S 2 hours £3.50 £3.50	£3.50 £3.50 £3.50 STAY AND 3 hours	4 hours NEW CH. 4 hours	£7.00 £7.00 £7.00 ARGE 6 hours £9.30 £9.30	hours £15.00 £15.00 10 hours £15.00 £15.00	hours £22.00 £22.00 24 hours £22.00 £22.00	7 days
Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sturminster Newton	30 mins	1 hour 1 hour TIN 1 hour	2 hours TIME OF S 2 hours £3.50 £3.50 AE OF STA 2 hours	£3.50 £3.50 £3.50 STAY AND 3 hours	4 hours NEW CH. 4 hours	£7.00 £7.00 £7.00 ARGE 6 hours £9.30	hours £15.00 £15.00 10 hours £15.00	hours £22.00 £22.00 24 hours £22.00	7 days
Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sturminster	mins 30 mins	1 hour 1 hour TIN 1 hour £0.70	2 hours TIME OF \$ 2 hours £3.50 £3.50 £ 3.50 2 hours £ 1.00	£3.50 £3.50 £3.50 STAY AND 3 hours	4 hours NEW CH. 4 hours URRENT (£7.00 £7.00 £7.00 ARGE 6 hours £9.30 £9.30 CHARGE 6 hours	hours £15.00 £15.00 10 hours £15.00 £15.00	hours £22.00 £22.00 24 hours £22.00 £22.00	7 days
Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sherborne Culverhayes Multiuse Area Coaches Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sturminster Newton Church Street Car Park	30 mins 30 mins £0.50	1 hour TIN 1 hour £0.70	Z hours TIME OF S 2 hours £3.50 £3.50 Æ OF STA 2 hours £1.00 TIME OF S	£3.50 £3.50 £3.50 STAY AND 3 hours	4 hours NEW CH. 4 hours URRENT (4 hours)	£7.00 £7.00 £7.00 ARGE 6 hours £9.30 £9.30 CHARGE 6 hours	hours £15.00 £15.00 10 hours £15.00 £15.00	hours £22.00 £22.00 24 hours £22.00 £22.00 £24.00	7 days
Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sherborne Culverhayes Multiuse Area Culverhayes Multiuse Area Culverhayes Multiuse Area Coaches Sturminster Newton Church Street	30 mins	1 hour 1 hour TIN 1 hour £0.70	2 hours TIME OF \$ 2 hours £3.50 £3.50 £ 3.50 2 hours £ 1.00	£3.50 £3.50 £3.50 STAY AND 3 hours	4 hours NEW CH. 4 hours URRENT (£7.00 £7.00 £7.00 ARGE 6 hours £9.30 £9.30 CHARGE 6 hours	hours £15.00 £15.00 10 hours £15.00 £15.00	hours £22.00 £22.00 24 hours £22.00 £22.00	7 days

		TIN	IE OF STA	AY AND C	URRENT (CHARGE			
<u>Wareham</u>	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Streche Road Multiuse Area			£3.50		£7.00		£15.00	£22.00	
Streche Road Multiuse Area (Coaches)			£3.50		£7.00		£15.00	£22.00	
Rempstone Centre Car Park	£0.50	£1.00	£1.50						
Tan			TIME OF S	STAY AND	NEW CH	ARGE			
<u>Wareham</u>	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Streche Road Multiuse Area			£3.50			£9.30	£15.00	£22.00	
Streche Road Multiuse Area (Coaches)			£3.50			£9.30	£15.00	£22.00	£85
Rempstone Centre Car Park	£0.50	£1.00	£1.50	£2.20					
		TIN	IE OF STA	AY AND C	URRENT (CHARGE		•	
West Bay	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Bridport Arms Car Park 1st April to 31st October	£1.00	£2.00	£3.00	£4.00	£5.00				
Bridport Arms Car Park 1st November to 31st March	£0.50	£1.00	£1.50	£2.20	£3.50				
East Beach Car Park 1st April to 31st October	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
East Beach Car Park 1st November to 31st March	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Station Yard Car Park 1st April to 31st October	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Station Yard Car Park 1st November to 31st March	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
The Mound Car Park 1st April to 31st October	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
The Mound Car Park 1st November to 31st March	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Esplanade Car Park 1st April to 31st October	£1.00	£2.00	£3.00	£4.00	£5.00				
Esplanade Car Park 1st November to 31st March	£0.50	£1.00	£1.50	£2.20	£3.50				
Quayside Car Park 1st April to 31st October	£1.00	£2.00	£3.00	£4.00	£5.00				
Quayside Car Park 1st November to 31st March	£0.50	£1.00	£1.50	£2.20	£3.50				

The George	£1.00	£2.00	£3.00						
Car Park 1st									
April to 31st									
October	CO EO	C4 00	C4 F0						
The George Car Park 1st	£0.50	£1.00	£1.50						
November to									
31st March									
West Bay Road	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Car Park 1st	21.00	22.00	20.00	24.00	20.00		210.00		
April to 31st									
October									
West Bay Road	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Car Park 1st									
November to									
31st March									
West Bay Road		£2.50	£3.50	£4.50	£5.50		£13.00		
Car Park									
Motorhome									
Bays 1st April to									
31st October		04.50	00.00	00.00	04.00		07.00		
West Bay Road Car Park		£1.50	£2.00	£3.00	£4.00		£7.00		
Motorhome									
Bays 1st									
November to									
31st March									
West Bay Road				£3.50		£7.00	£15.00		
Multiuse Area									
West Bay Road				£3.50		£7.00	£15.00		
Multiuse Area									
(Coaches)									
		•	TIME OF S	STAY AND	NEW CH	ARGE			
West Bay	30	1 hour	2 hours	3 hours	4 hours	6 hours	10	24	7 days
	mins						hours	hours	
Bridnart Arma	04.50								
Bridport Arms	£1.50	£3.00	£4.50	£6.00	£7.50				
Car Park 1st	£1.50	£3.00	£4.50	£6.00	£7.50				
Car Park 1st April to 31st	£1.50	£3.00	£4.50	£6.00	£7.50				
Car Park 1st April to 31st October									
Car Park 1st April to 31st October Bridport Arms	£1.50	£3.00	£4.50	£6.00	£7.50				
Car Park 1st April to 31st October Bridport Arms Car Park 1st									
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to									
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March	£0.80	£1.50	£2.30	£3.30	£5.30		£15.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car							£15.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March	£0.80	£1.50	£2.30	£3.30	£5.30		£15.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car	£0.80	£1.50	£2.30	£3.30	£5.30		£15.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st Beach Car	£0.80 £1.50	£1.50	£2.30 £4.50	£3.30 £6.00	£5.30 £7.50				
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to	£0.80 £1.50	£1.50	£2.30 £4.50	£3.30 £6.00	£5.30 £7.50				
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March	£0.80 £1.50 £0.80	£1.50 £3.00 £1.50	£2.30 £4.50 £2.30	£3.30 £6.00	£5.30 £7.50 £5.30		£9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard	£0.80 £1.50	£1.50	£2.30 £4.50	£3.30 £6.00	£5.30 £7.50				
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st	£0.80 £1.50 £0.80	£1.50 £3.00 £1.50	£2.30 £4.50 £2.30	£3.30 £6.00	£5.30 £7.50 £5.30		£9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st	£0.80 £1.50 £0.80	£1.50 £3.00 £1.50	£2.30 £4.50 £2.30	£3.30 £6.00	£5.30 £7.50 £5.30		£9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October	£0.80 £1.50 £0.80	£1.50 £3.00 £1.50	£2.30 £4.50 £2.30	£3.30 £6.00 £3.30	£5.30 £7.50 £5.30		£9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard	£0.80 £1.50 £0.80	£1.50 £3.00 £1.50	£2.30 £4.50 £2.30	£3.30 £6.00	£5.30 £7.50 £5.30		£9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st October	£0.80 £1.50 £0.80	£1.50 £3.00 £1.50	£2.30 £4.50 £2.30	£3.30 £6.00 £3.30	£5.30 £7.50 £5.30		£9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March	£0.80 £1.50 £0.80	£1.50 £3.00 £1.50	£2.30 £4.50 £2.30	£3.30 £6.00 £3.30	£5.30 £7.50 £5.30		£9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st October	£0.80 £1.50 £0.80	£1.50 £3.00 £1.50	£2.30 £4.50 £2.30	£3.30 £6.00 £3.30	£5.30 £7.50 £5.30		£9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March	£0.80 £1.50 £0.80 £0.80	£1.50 £3.00 £1.50 £1.50	£2.30 £4.50 £2.30 £4.50	£3.30 £6.00 £3.30 £3.30	£5.30 £7.50 £5.30 £5.30		£9.00 £15.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st March	£0.80 £1.50 £0.80 £1.50	£1.50 £3.00 £1.50 £3.00	£2.30 £4.50 £2.30 £4.50	£3.30 £6.00 £3.30 £6.00	£5.30 £7.50 £5.30 £7.50		£9.00 £15.00 £9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st March The Mound Car Park 1st April to 31st October The Mound Car	£0.80 £1.50 £0.80 £0.80	£1.50 £3.00 £1.50 £1.50	£2.30 £4.50 £2.30 £4.50	£3.30 £6.00 £3.30 £3.30	£5.30 £7.50 £5.30 £5.30		£9.00 £15.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st November to 31st October The Mound Car Park 1st Notember to 31st October The Mound Car Park 1st	£0.80 £1.50 £0.80 £1.50	£1.50 £3.00 £1.50 £3.00	£2.30 £4.50 £2.30 £4.50	£3.30 £6.00 £3.30 £6.00	£5.30 £7.50 £5.30 £7.50		£9.00 £15.00 £9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st October The Mound Car Park 1st November to 31st October The Mound Car Park 1st November to 31st October	£0.80 £1.50 £0.80 £1.50	£1.50 £3.00 £1.50 £3.00	£2.30 £4.50 £2.30 £4.50	£3.30 £6.00 £3.30 £6.00	£5.30 £7.50 £5.30 £7.50		£9.00 £15.00 £9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st November to 31st October The Mound Car Park 1st November to 31st October	£0.80 £1.50 £0.80 £1.50 £0.80	£1.50 £3.00 £1.50 £3.00 £1.50	£2.30 £4.50 £2.30 £4.50 £2.30	£3.30 £6.00 £3.30 £6.00 £3.30	£5.30 £7.50 £5.30 £7.50 £5.30		£9.00 £15.00 £9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st November to 31st October The Mound Car Park 1st November to 31st March Esplanade Car	£0.80 £1.50 £0.80 £1.50	£1.50 £3.00 £1.50 £3.00	£2.30 £4.50 £2.30 £4.50	£3.30 £6.00 £3.30 £6.00	£5.30 £7.50 £5.30 £7.50		£9.00 £15.00 £9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st November to 31st October The Mound Car Park 1st November to 31st October The Mound Car Park 1st November to 31st March Esplanade Car Park 1st April to	£0.80 £1.50 £0.80 £1.50 £0.80	£1.50 £3.00 £1.50 £3.00 £1.50	£2.30 £4.50 £2.30 £4.50 £2.30	£3.30 £6.00 £3.30 £6.00 £3.30	£5.30 £7.50 £5.30 £7.50 £5.30		£9.00 £15.00 £9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st November to 31st March Esplanade Car Park 1st April to 31st March Esplanade Car Park 1st April to 31st March	£0.80 £1.50 £0.80 £1.50 £0.80	£1.50 £3.00 £1.50 £3.00 £1.50	£2.30 £4.50 £2.30 £4.50 £2.30	£3.30 £6.00 £3.30 £6.00 £3.30	£5.30 £7.50 £5.30 £7.50 £5.30		£9.00 £15.00 £9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st November to 31st March Esplanade Car Park 1st April to 31st October Esplanade Car	£0.80 £1.50 £0.80 £1.50 £0.80	£1.50 £3.00 £1.50 £3.00 £1.50	£2.30 £4.50 £2.30 £4.50 £2.30	£3.30 £6.00 £3.30 £6.00 £3.30	£5.30 £7.50 £5.30 £7.50 £5.30		£9.00 £15.00 £9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st November to 31st March Esplanade Car Park 1st April to 31st October Esplanade Car Park 1st April to 31st October Esplanade Car Park 1st April to 31st October	£0.80 £1.50 £0.80 £1.50 £0.80	£1.50 £3.00 £1.50 £3.00 £1.50	£2.30 £4.50 £2.30 £4.50 £2.30	£3.30 £6.00 £3.30 £6.00 £3.30	£5.30 £7.50 £5.30 £7.50 £5.30		£9.00 £15.00 £9.00		
Car Park 1st April to 31st October Bridport Arms Car Park 1st November to 31st March East Beach Car Park 1st April to 31st October East Beach Car Park 1st November to 31st March Station Yard Car Park 1st April to 31st October Station Yard Car Park 1st November to 31st March The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st April to 31st October The Mound Car Park 1st November to 31st March Esplanade Car Park 1st April to 31st October Esplanade Car	£0.80 £1.50 £0.80 £1.50 £0.80	£1.50 £3.00 £1.50 £3.00 £1.50	£2.30 £4.50 £2.30 £4.50 £2.30	£3.30 £6.00 £3.30 £6.00 £3.30	£5.30 £7.50 £5.30 £7.50 £5.30		£9.00 £15.00 £9.00		

Quayside Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00	£7.50				
Quayside Car Park 1st November to	£0.80	£1.50	£2.30	£3.30	£5.30				
31st March The George Car Park 1st April to 31st	£1.50	£3.00	£4.50	£6.00					
October The George Car Park 1st November to 31st March	£0.80	£1.50	£2.30	£3.30					
West Bay Road Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
West Bay Road Car Park 1st November to 31st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
West Bay Road Car Park Motorhome Bays 1st April to 31st October		£3.80	£5.30	£6.80	£8.30		£19.50		
West Bay Road Car Park Motorhome Bays 1st November to 31st March		£2.30	£3.00	£4.50	£6.00		£10.50		
West Bay Road Multiuse Area			£5.30			£14.00	£22.50		
West Bay Road Multiuse Area (Coaches)			£5.30			£14.00	£22.50		£85
		TIM	IE OF STA	AY AND C	JRRENT (CHARGE			
West Bexington	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
The Beach Car Park 1st April to 31st October	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
The Beach Car Park 1 st November to 31 st March	£0.50	£0.70	£1.00	£1.50	£2.50		£4.00		
The Beach Car Park Motorhome Bays 1st April to 31st October		£2.50	£3.50	£4.50	£5.50		£13.00		
The Beach Car Park Motorhome Bays 1 st November to 31 st March		£1.00	£1.50	£2.00	£3.00		£5.00		

			TIME OF	STAY AND	NEW CH	ARGE			
West	30	1 hour	2 hours	3 hours	4 hours	6 hours	10	24	7 days
Bexington The Beach Car	mins £1.50	£3.00	£4.50	£6.00	£7.50		hours £15.00	hours	
Park 1st April to	£1.50	23.00	£4.50	20.00	£1.50		£15.00		
31st October									
The Beach Car	£0.50	£0.70	£1.00	£1.50	£2.50		£4		
Park 1 st November to									
31st March									
The Beach Car		£3.80	£5.30	£6.80	£8.30		£19.50		
Park Motorhome									
Bays 1st April to									
31st October		04.50	00.00	00.00	04.00		07.00		
The Beach Car Park		£1.50	£2.00	£3.00	£4.00		£7.00		
Motorhome									
Bays 1 st									
November to 31 st March									
			IE OF STA	AY AND C	URRENT (CHARGE			
Weymouth	30	1 hour	2 hours	3 hours	4 hours	6 hours	10	24	7 days
Beach Car Park	mins £1.00	£2.00	£3.00	£4.00	£5.00		£10.00	hours	
1st April to 31st October	£1.00	22.00	23.00	24.00	25.00		210.00		
Beach Car Park	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
1 st November to 31 st March									
Governors	£0.50	£1.00	£1.50						
Lane Car Park Harbourside	£1.00	£2.00	£3.00						
Car Park 1st	21.00	22.00	20.00						
April to 31st October									
Harbourside	£0.50	£1.00	£1.50						
Car Park 1st									
November to 31st March									
Lodmoor Car	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Park 1st April to									
31st October Lodmoor Car	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Park 1 st	20.00	21.00	21.00	22.20	20.00		20.00		
November to									
31st March Lodmoor Car		£2.50	£3.50	£4.50	£5.50		£13.00		
Park		22.00	20.00	24.00	20.00		210.00		
Motorhome									
Bays 1 st April to 31 st October									
Lodmoor Car		£1.50	£2.00	£3.00	£4.00		£7.00		
Park									
Motorhome Bays 1st									
November to									
31st March			00.55			07.00	045.00	000.00	
Lodmoor Multiuse			£3.50			£7.00	£15.00	£22.00	
Lodmoor			£3.50			£7.00	£15.00	£22.00	
Multiuse									
Coaches Melcombe	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Regis Car Park	200	~00	25.00		20.00		2.0.00		
1 st April to 31 st									
October Melcombe	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Regis Car Park	23.00	21.00	21.00		20.00		20.00		
1 st November to									
31st March			I	1]		I

Overcombe Car Park 1 st April to 31 st October	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Overcombe Car Park 1 st November to 31 st March	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Overcombe Car Park Motorhome		£2.50	£3.50	£4.50	£5.50		£13.00		
Bays 1 st April to 31 st October		04.50	00.00	00.00	04.00		07.00		
Overcombe Car Park Motorhome Bays 1 st November to 31 st March		£1.50	£2.00	£3.00	£4.00		£7.00		
Park Street Car Park 1 st April to 31 st October	£0.50	£1.00	£1.50						
Park Street Car Park 1 st November to 31 st March	£0.50	£1.00	£1.50						
Pavilion Car Park 1 st April to 31 st October	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Pavilion Car Park 1 st November to 31 st March	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
Pavilion Car Park Motorhome Bays 1 st April to 31 st October		£2.50	£3.50	£4.50	£5.50		£13		
Pavilion Car Park Motohome Bays 1 st November to 31 st March		£1.50	£2.00	£3.00	£4.00		£7.00		
Pavilion Forecourt 1 st April to 31 st March	£1.00	£2.00	£3.00	£4.00	£5.00				
Pavilion Forecourt 1 st November to 31 st March	£0.50	£1.00	£1.50	£2.20	£3.50				
Swannery Car Park 1 st April to 31 st October	£1.00	£2.00	£3.00	£4.00	£5.00		£10.00		
Swannery Car Park 1 st November to	£0.50	£1.00	£1.50	£2.20	£3.50		£6.00		
31 st March		<u> </u>	L TIME OF S	STAY AND	NEW CH	ARGE	<u> </u>	<u> </u>	
Weymouth	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Beach Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
Beach Car Park 1 st November to 31 st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
Governors Lane Car Park	£0.50	£1.00	£1.50	£2.20					
Harbourside Car Park 1 st April to 31 st October	£1.50	£3.00	£4.50	£6.00					

Harbourside Car Park 1 st November to	£0.80	£1.50	£2.30	£3.30					
31st March Lodmoor Car Park 1st April to	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
31st October Lodmoor Car Park 1st	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
November to 31 st March									
Lodmoor Car Park Motorhome Bays 1 st April to 31 st October		£3.80	£5.30	£6.80	£8.30		£19.50		
Lodmoor Car Park Motorhome Bays 1st November to 31st March		£2.30	£3.00	£4.50	£6.00		£10.00		
Lodmoor Multiuse			£5.30			£14.00	£22.50	£33.00	
Lodmoor Multiuse Coaches			£5.30			£14.00	£22.50	£33.00	£85.00
Melcombe Regis Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
Melcombe Regis Car Park 1 st November to 31 st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
Overcombe Car Park 1 st April to 31 st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
Overcombe Car Park 1 st November to 31 st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
Overcombe Car Park Motorhome Bays 1 st April to 31 st October		£3.80	£5.30	£6.80	£8.30		£19.50		
Overcombe Car Park Motorhome Bays 1 st November to 31 st March		£2.30	£3.00	£4.50	£6.00		£10.50		
Park Street Car Park 1 st April to 31 st October	£1.50	£3.00	£4.50	£6.00					
Park Street Car Park 1 st November to 31 st March	£0.80	£1.50	£2.30	£3.30					
Pavilion Car Park 1 st April to 31 st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
Pavilion Car Park 1 st November to 31 st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
Pavilion Car Park Motorhome Bays 1 st April to 31 st March		£3.80	£5.30	£6.80	£8.30		£19.50		

Pavilion Car Park Motorhome Bays 1 st November to		£2.30	£3.00	£4.50	£6.00		£10.50		
31st March Pavilion Forecourt Car Park 1st April to 31st October	£1.50	£3.00	£4.50	£6.00	£7.50				
Pavilion Forecourt Car Park 1st November to 31st March	£0.80	£1.50	£2.30	£3.30	£5.30				
Swannery Car Park 1 st April to 31 st October	£1.50	£3.00	£4.50	£6.00	£7.50		£15.00		
Swannery Car Park 1 st November to 31 st March	£0.80	£1.50	£2.30	£3.30	£5.30		£9.00		
TIME OF STAY AND CURRENT CHARGE									
Wimborne	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Allenview Multiuse Area			£3.50			£7.00	£15.00	£22.00	
Allenview Multiuse Area (Coaches)			£3.50			£7.00	£15.00	£22.00	
Park Lane Car Park	£0.50	£1.00	£1.50						
TIME OF STAY AND NEW CHARGE									
Wimborne	30 mins	1 hour	2 hours	3 hours	4 hours	6 hours	10 hours	24 hours	7 days
Allenview Multiuse Area			£3.50			£9.30	£15.00	£22.00	
Allenview Multiuse Area (Coaches)			£3.50			£9.30	£15.00	£22.00	£85.00
Park Lane Car Park	£0.50	£1.00	£1.50	£2.20	£3.50				